
Task: DOM

Domino

You are given a chessboard of size n×m. There are also some lines drawn on it. Each line separates
two adjacent �elds. You are going to put dominoes on the chessboard. Each domino covers two
adjacent �elds. You can put a domino on two adjacent �elds only if they are not separated by a line.
Your task is to �nd such an arrangement of dominoes on the chessboard, that each �eld is covered
by exactly one domino. You can assume that for each input data there is a solution.

Task

This is an output-only task. This means, that you are given input �les dom1.in, dom2.in, . . . ,
dom20.in. Your task is to produce output �les dom1.out, dom2.out, . . . , dom20.out. Your submis-
sion should comprise a single zip or tar-gzip archive containing all the output �les without any
sub-directories. The format of input �les, as well as the format of output �les, which you are to
produce, is described below.

Input

The �rst line of an input �le contains two integers, n and m, separated by a single space � n is the
number of rows and m is the number of columns of the chessboard, 1 ≤ n, m ≤ 100, n ·m is even.
The �elds of the chessboard are numbered from 1 to n ·m. The i-th �eld (from the left) in the j-th
row (from the top) has number (j − 1) ·m + i (for 1 ≤ i ≤ m, 1 ≤ j ≤ n).

The second line contains one positive integer l, 0 ≤ l ≤ 5000. Each of the following l lines
contains two integers separated by a single space. The i + 2-nd line contains integers pi and qi (for
i = 1, . . . , l), where 1 ≤ pi, qi ≤ n ·m, pi and qi are numbers of two adjacent �elds. It represents a
line between �elds number pi and qi.

Output

A single output �le should consist of n·m
2 lines describing an arrangement of the dominoes, one

domino per line. Each of these lines should contain two integers separated by a single space: numbers
of two adjacent �elds covered by a domino. The dominoes may be described in any order. If there
are several solutions, you should �nd any one of them.
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Example

For the input data:
4 5

9

8 7

13 14

14 19

6 7

12 7

4 9

12 13

14 9

9 10

the correct result is:
3 4

1 6

2 7

8 9

5 10

14 15

11 16

12 17

13 18

19 20
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